

# **DEPARTMENT OF PURCHASING & CONTRACTING BID TABULATION**

					E.R. SNELL C	ONTRACTOR, INC.		/S CONTRACTING, ., INC.	ASTRA G	ROUP, INC.
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	C-100-1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1	\$286,600.00	\$286,600.00	\$283,850.52	\$283,850.52	\$490,000.00	\$490,000.00
2	C-105-1	MOBILIZATION	L. SUM	1	\$438,000.00	\$438,000.00	\$378,619.14	\$378,619.14	\$376,000.00	\$376,000.00
3	C-105-2	ENGINEER'S FIELD COMPLEX	L. SUM	1	\$117,000.00	\$117,000.00	\$100,054.07	\$100,054.07	\$698,936.11	\$698,936.11
4	P-101-3	MISCELLANEOUS PAVEMENT REMOVAL	SQ. YD.	2,530	\$9.75	\$24,667.50	\$9.44	\$23,883.20	\$19.81	\$50,119.30
5	P-101-4	MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL TIES	SQ. YD.	200	\$81.75	\$16,350.00	\$214.60	\$42,920.00	\$10.31	\$2,062.00
6	P-101-7	REMOVE EXISTING FENCE	LIN. FT.	390	\$10.50	\$4,095.00	\$13.04	\$5,085.60	\$18.98	\$7,402.20
7	P-151-1	CLEARING AND GRUBBING	ACRE	5	\$20,100.00	\$100,500.00	\$23,543.26	\$117,716.30	\$20,624.76	\$103,123.80
8	P-152-1	EMBANKMENT IN PLACE	CU. YD.	55,450	\$44.50	\$2,467,525.00	\$23.57	\$1,306,956.50	\$13.67	\$758,001.50
9	P-152-4	SHOULDER GRADING	SQ. YD.	300	\$33.75	\$10,125.00	\$41.52	\$12,456.00	\$21.74	\$6,522.00
10	P-209-1	CRUSHED AGGREGATE BASE COURSE	CU. YD.	385	\$119.00	\$45,815.00	\$193.14	\$74,358.90	\$79.59	\$30,642.15
11	P-405-1	ASPHALTIC CONCRETE, 12.5MM SUPERPAVE, INCLUDING BITUMINOUS MATERIALS AND HYDRATED LIME	TON	800	\$216.00	\$172,800.00	\$277.66	\$222,128.00	\$258.28	\$206,624.00
12	P-602-1	EMULSIFIED ASPHALT PRIME COAT	GAL.	1,035	\$13.75	\$14,231.25	\$21.28	\$22,024.80	\$12.54	\$12,978.90
13	P-603-1	EMULSIFIED ASPHALT TACK COAT	GAL.	345	\$4.90	\$1,690.50	\$5.52	\$1,904.40	\$9.23	\$3,184.35
14	D-701-1	18" CORRUGATED HDPE PIPE	LIN. FT.	695	\$90.00	\$62,550.00	\$107.04	\$74,392.80	\$82.26	\$57,170.70
15	D-701-5	FLARED END SECTION	EACH	4	\$2,070.00	\$8,280.00	\$1,017.98	\$4,071.92	\$787.71	\$3,150.84
16	D-751-2	DITCH DROP INLET	EACH	5	\$12,400.00	\$62,000.00	\$11,743.20	\$58,716.00	\$9,347.58	\$46,737.90
17	D-751-5	CONCRETE HEADWALL – 18 INCH	EACH	1	\$6,300.00	\$6,300.00	\$5,762.33	\$5,762.33	\$4,843.66	\$4,843.66
18	D-751-6	CONCRETE HEADWALL – 42 INCH	EACH	1	\$8,440.00	\$8,440.00	\$7,723.90	\$7,723.90	\$6,492.50	\$6,492.50
19	GDOT- 163A	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT/CONCRETE WASHOUT	EACH	1	\$6,300.00	\$6,300.00	\$12,078.54	\$12,078.54	\$3,539.09	\$3,539.09
20	GDOT- 163B	CONSTRUCT, MAINTAIN, AND REMOVE STONE RIP RAP CHECK DAM	EACH	5	\$969.00	\$4,845.00	\$1,470.58	\$7,352.90	\$326.96	\$1,634.80
21		CONSTRUCT, MAINTAIN, AND REMOVE TEMPORARY SEDIMENT TRAP	EACH	11	\$12,900.00	\$141,900.00	\$379.57	\$4,175.27	\$296.78	\$3,264.58
22	GDOT- 163I	CONSTRUCT, MAINTAIN, AND REMOVE EROSION CONTROL BLANKET/MATTING	SQ. YD.	11,000	\$2.75	\$30,250.00	\$2.64	\$29,040.00	\$1.42	\$15,620.00
23	GDOT- 163J	CONSTRUCT, MAINTAIN, AND REMOVE DIVERSION CHANNEL	LIN. FT.	670	\$27.25	\$18,257.50	\$33.87	\$22,692.90	\$20.88	\$13,989.60
24	GDOT- 167A	WATER QUALITY MONITORING AND SAMPLING	EACH	9	\$592.00	\$5,328.00	\$294.29	\$2,648.61	\$309.35	\$2,784.15
25	GDOT-167B	WATER QUALITY INSPECTIONS	MONTH	2	\$8,390.00	\$16,780.00	\$1,177.17	\$2,354.34	\$618.71	\$1,237.42
26	GDOT- 171A	INSTALL AND MAINTAIN TEMPORARY SILT FENCE, TYPE C	LIN. FT.	7,190	\$13.75	\$98,862.50	\$3.67	\$26,387.30	\$5.53	\$39,760.70
27	GDOT- 603A	STONE DUMPED RIP RAP, TYPE 3, 18" DEPTH	SQ. YD.	1,000	\$78.50	\$78,500.00	\$77.39	\$77,390.00	\$84.79	\$84,790.00

## Bid Opening : June 28, 2022

Cost Opening : July 1, 2022

Procurement Agent: Jovan Hooper



						E.R. SNELL CONTRACTOR, INC.		/S CONTRACTING, ., INC.	ASTRA GROUP, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
28	T-901-1	PERMANENT SEEDING	ACRE	15	\$3,720.00	\$55,800.00	\$3,570.53	\$53,557.95	\$4,312.87	\$64,693.05
29	T-901-2	TEMPORARY SEEDING AND MULCHING	ACRE	15	\$2,280.00	\$34,200.00	\$2,187.35	\$32,810.25	\$1,474.79	\$22,121.85
30	T-905-1	TOPSOIL (FURNISHED FROM OFF SITE)	CU. YD.	12,500	\$21.75	\$271,875.00	\$61.11	\$763,875.00	\$49.38	\$617,250.00
31	T-908-1	MULCHING	SQ. YD.	120,585	\$0.15	\$18,087.75	\$0.14	\$16,881.90	\$0.21	\$25,322.85
Note to Bio	TOTAL SCHEDULE A: RWY 34 RSA:					\$4,627,955.00		3,869.34	\$3,760,000.00	

Bid Opening : June 28, 2022

Cost Opening : July 1, 2022

Procurement Agent: Jovan Hooper

1         C           2         C           3         C           4         P           5         P           6         P           7         P           8         P           9         P           10         P           11         P           12         P           13         P           14         P	C-100-1 C-105-1 C-105-2 P-101-1 P-101-4	ITEM DESCRIPTION CONTRACTOR QUALITY CONTROL PROGRAM (CQCP) MOBILIZATION ENGINEER'S FIELD COMPLEX ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL	UNIT L. SUM L. SUM L. SUM SQ. YD.	UNIT NO. 1 1	UNIT PRICE \$494,600.00	<b>TOTAL PRICE</b>	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
2         C           3         C           4         P           5         P           6         P           7         P           8         P           9         P           10         P           11         P           12         P           13         P           14         P	C-100-1 C-105-1 C-105-2 P-101-1 P-101-4 P-101-5	PROGRAM (CQCP) MOBILIZATION ENGINEER'S FIELD COMPLEX ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL	L. SUM L. SUM	1		¢101 600 00				
3       C         4       P         5       P         6       P         7       P         8       P         9       P         10       P         11       P         12       P         13       P         14       P	C-105-1 C-105-2 P-101-1 P-101-4 P-101-5	MOBILIZATION ENGINEER'S FIELD COMPLEX ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL	L. SUM	1	A = 0	\$494,600.00	\$279,321.47	\$279,321.47	\$567,000.00	\$567,000.00
4     P       5     P       6     P       7     P       8     P       9     P       10     P       11     P       12     P       13     P       14     P	P-101-1 P-101-4 P-101-5	ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL		1	\$700,000.00	\$700,000.00	\$739,551.01	\$739,551.01	\$843,000.00	\$843,000.00
5     P       6     P       7     P       8     P       9     P       10     P       11     P       12     P       13     P       14     P	P-101-1 P-101-4 P-101-5	INCLUDING BASE MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL	SQ. YD.	1	\$117,000.00	\$117,000.00	\$100,054.07	\$100,054.07	\$12,746.26	\$12,746.26
6         P           7         P           8         P           9         P           10         P           11         P           12         P           13         P           14         P	P-101-4 P-101-5	VARIABLE DEPTH, INCLUDING MILL		53,000	\$13.00	\$689,000.00	\$21.56	\$1,142,680.00	\$17.03	\$902,590.00
7     P       8     P       9     P       10     P       11     P       12     P       13     P       14     P		TIES	SQ. YD.	13,800	\$8.60	\$118,680.00	\$9.67	\$133,446.00	\$6.18	\$85,284.00
8         P           9         P           10         P           11         P           12         P           13         P           14         P	P-101-8	REMOVE EXISTING CONCRETE V-DITCH	LIN. FT.	5,000	\$9.75	\$48,750.00	\$14.23	\$71,150.00	\$95.57	\$477,850.00
9         P           10         P           11         P           12         P           13         P           14         P		JOINT AND CRACK REPAIR, 1/8" TO 1/2" WIDTH	LIN. FT.	5,085	\$2.00	\$10,170.00	\$1.99	\$10,119.15	\$2.10	\$10,678.50
10         P           11         P           12         P           13         P           14         P	P-101-9	JOINT AND CRACK REPAIR, 1/2" TO 1" WIDTH	LIN. FT.	5,085	\$2.40	\$12,204.00	\$2.40	\$12,204.00	\$2.10	\$10,678.50
11         P           12         P           13         P           14         P	P-152-3	SCARIFIED SUBGRADE PREPARATION (12 INCH)	SQ. YD.	52,910	\$1.75	\$92,592.50	\$5.54	\$293,121.40	\$4.32	\$228,571.20
12 P 13 P 14 P		SHOULDER GRADING	SQ. YD.	3,200	\$25.25	\$80,800.00	\$23.46	\$75,072.00	\$12.40	\$39,680.00
13 P 14 P		CRUSHED AGGREGATE BASE COURSE	CU. YD.	11,640	\$120.00	\$1,396,800.00	\$91.46	\$1,064,594.40	\$70.03	\$815,149.20
14 P	P-405-1	ASPHALTIC CONCRETE, 12.5MM SUPERPAVE, INCLUDING BITUMINOUS MATERIALS AND HYDRATED LIME	TON	15,215	\$160.00	\$2,434,400.00	\$186.37	\$2,835,619.55	\$248.78	\$3,785,187.70
	P-602-1	EMULSIFIED ASPHALT PRIME COAT	GAL.	15,560	\$13.75	\$213,950.00	\$16.99	\$264,364.40	\$14.40	\$224,064.00
15 P	P-603-1	EMULSIFIED ASPHALT TACK COAT	GAL.	7,875	\$4.90	\$38,587.50	\$5.52	\$43,470.00	\$10.60	\$83,475.00
10 1	P-620-1	MARKING REMOVAL	SQ. FT.	3,700	\$3.10	\$11,470.00	\$3.03	\$11,211.00	\$2.32	\$8,584.00
16 P	P-620-2	PAVEMENT MARKING, YELLOW, REFLECTIVE	SQ. FT.	3,265	\$2.40	\$7,836.00	\$2.35	\$7,672.75	\$1.80	\$5,877.00
17 P	P-620-3	PAVEMENT MARKING, WHITE, REFLECTIVE	SQ. FT.	46,640	\$2.40	\$111,936.00	\$2.35	\$109,604.00	\$1.80	\$83,952.00
	P-620-4	PAVEMENT MARKING, BLACK, NON- REFLECTIVE	SQ. FT.	15,065	\$1.15	\$17,324.75	\$1.14	\$17,174.10	\$0.88	\$13,257.20
19 D		PAVED DRAINAGE DITCH	LIN. FT.	4,965	\$109.00	\$541,185.00	\$50.42	\$250,335.30	\$28.64	\$142,197.60
20 GDC		CONSTRUCT, MAINTAIN, AND REMOVE INLET SEDIMENT TRAP	EACH	42	\$824.00	\$34,608.00	\$379.57	\$15,941.94	\$296.05	\$12,434.10
21 GD0	DOI-163F	CONSTRUCT, MAINTAIN, AND REMOVE SILT FENCE/COMPOST FILTER SOCK	LIN. FT.	7,010	\$25.00	\$175,250.00	\$17.37	\$121,763.70	\$1.41	\$9,884.10
22 GD0		WATER QUALITY MONITORING AND SAMPLING	EACH	9	\$592.00	\$5,328.00	\$294.29	\$2,648.61	\$310.86	\$2,797.74
23 GD0	DOT- 167B	WATER QUALITY INSPECTIONS	MONTH	2	\$8,390.00	\$16,780.00	\$1,177.17	\$2,354.34	\$621.74	\$1,243.48
	T-901-2	TEMPORARY SEEDING AND MULCHING	ACRE	1	\$2,280.00	\$2,280.00	\$2,187.35	\$2,187.35	\$1,482.42	\$1,482.42
		SODDING	SQ. YD.	4,100	\$13.00	\$53,300.00	\$9.97	\$40,877.00	\$14.96	\$61,336.00
26 T	T-908-1	MULCHING	SQ. YD.	5,000	\$0.15	\$750.00	\$0.14	\$700.00	\$0.20	\$1,000.00
	TOTAL SCHEDULE B: 16-34 REHAB:					5,581.75	\$7,64	7,237.54	\$8,43	0,000.00

BASE BID – Schedule B: 16-34 Rehab

					E.R. SNELL CONTRACTOR, INC.			IATTHEWS TING, CO., INC.	ASTRA GROUP, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	C-100-1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1	\$40,100.00	\$40,100.00	\$27,768.99	\$27,768.99	\$67,762.00	\$67,762.00
2	C-105-1	MOBILIZATION	L. SUM	1	\$22,400.00	\$22,400.00	\$30,128.97	\$30,128.97	\$32,000.00	\$32,000.00
3	P-101-8	JOINT AND CRACK REPAIR, 1/8" TO 1/2" WIDTH	LIN. FT.	14,765	\$2.00	\$29,530.00	\$2.79	\$41,194.35	\$1.20	\$17,718.00
4	P-101-9	JOINT AND CRACK REPAIR, 1/2" TO 1" WIDTH	LIN. FT.	16,875	\$2.40	\$40,500.00	\$3.10	\$52,312.50	\$1.60	\$27,000.00
5	P-101-10	JOINT AND CRACK REPAIR, GREATER THAN 1" WIDTH	LIN. FT.	10,550	\$5.35	\$56,442.50	\$5.89	\$62,139.50	\$12.60	\$132,930.00
6	P-620-2	PAVEMENT MARKING, YELLOW, REFLECTIVE	SQ. FT.	1,420	\$1.30	\$1,846.00	\$5.45	\$7,739.00	\$1.00	\$1,420.00
7	P-620-3	PAVEMENT MARKING, WHITE, REFLECTIVE	SQ. FT.	30,140	\$1.30	\$39,182.00	\$1.87	\$56,361.80	\$1.00	\$30,140.00
8	P-620-4	PAVEMENT MARKING, BLACK, NON-REFLECTIVE	SQ. FT.	11,030	\$1.15	\$12,684.50	\$2.75	\$30,332.50	\$1.00	\$11,030.00
	TOTAL 3L-21R CRACK SEAL & REMARKING:					\$242,685.00		\$307,977.61		0,000.00
Note to B	idder:						-		-	

## ADDITIVE BID #1: 3L-21R CRACK SEAL & REMARKING

			E.R. SNELL CONTRACTOR, INC. C.W. MATTHEWS CONTRACTING, CO., INC.		ASTRA G	ROUP, INC.				
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	C-100-1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1	\$90,800.00	\$90,800.00	\$119,847.97	\$119,847.97	\$171,000.00	\$171,000.00
2	C-105-1	MOBILIZATION	L. SUM	1	\$124,800.00	\$124,800.00	\$121,625.63	\$121,625.63	\$126,000.00	\$126,000.00
3	P-101-3	MISCELLANEOUS PAVEMENT REMOVAL	SQ. YD.	2,570	\$9.65	\$24,800.50	\$9.61	\$24,697.70	\$18.86	\$48,470.20
4	P-101-4	MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL TIES	SQ. YD.	10	\$1,600.00	\$16,000.00	\$352.33	\$3,523.30	\$51.55	\$515.50
5	P-152-1	EMBANKMENT IN PLACE	CU. YD.	5,285	\$27.25	\$144,016.25	\$44.79	\$236,715.15	\$16.66	\$88,048.10
6	P-152-2	ROCK EXCAVATION	CU. YD.	8,600	\$56.00	\$481,600.00	\$61.15	\$525,890.00	\$52.84	\$454,424.00
7	P-152-4	SHOULDER GRADING	SQ. YD.	155	\$65.25	\$10,113.75	\$41.55	\$6,440.25	\$17.73	\$2,748.15
8	P-209-1	CRUSHED AGGREGATE BASE COURSE	CU. YD.	145	\$128.00	\$18,560.00	\$181.26	\$26,282.70	\$73.56	\$10,666.20
9	P-405-1	ASPHALTIC CONCRETE, 12.5MM SUPERPAVE, INCLUDING BITUMINOUS MATERIALS AND HYDRATED LIME	TON	300	\$282.00	\$84,600.00	\$303.18	\$90,954.00	\$249.08	\$74,724.00
10	P-602-1	EMULSIFIED ASPHALT PRIME COAT	GAL.	390	\$13.75	\$5,362.50	\$21.90	\$8,541.00	\$12.53	\$4,886.70
11	P-603-1	EMULSIFIED ASPHALT TACK COAT	GAL.	130	\$4.90	\$637.00	\$5.52	\$717.60	\$9.22	\$1,198.60
12	D-701-3	STORM SEWER, CLASS III RCP, 36" DIAMETER	LIN. FT.	60	\$406.00	\$24,360.00	\$298.52	\$17,911.20	\$183.28	\$10,996.80
13	D-701-4	STORM SEWER, CLASS III RCP, 48" DIAMETER	LIN. FT.	50	\$495.00	\$24,750.00	\$442.07	\$22,103.50	\$279.12	\$13,956.00
14	D-751-3	OUTLET CONTROL STRUCTURE	EACH	2	\$30,600.00	\$61,200.00	\$34,111.11	\$68,222.22	\$20,663.27	\$41,326.54
15	D-751-7	CONCRETE HEADWALL – 48 INCH	EACH	1	\$11,400.00	\$11,400.00	\$10,422.13	\$10,422.13	\$9,006.58	\$9,006.58
16	D-754-1	PAVED DRAINAGE DITCH	LIN. FT.	620	\$93.75	\$58,125.00	\$58.36	\$36,183.20	\$28.67	\$17,775.40
17	GDOT- 163A	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT/CONCRETE WASHOUT	EACH	1	\$6,300.00	\$6,300.00	\$11,988.89	\$11,988.89	\$2,315.93	\$2,315.93
18	GDOT- 163B	CONSTRUCT, MAINTAIN, AND REMOVE STONE RIP RAP CHECK DAM	EACH	2	\$969.00	\$1,938.00	\$1,438.45	\$2,876.90	\$311.50	\$623.00
19	GDOT- 163C	CONSTRUCT, MAINTAIN, AND REMOVE INLET SEDIMENT TRAP	EACH	3	\$824.00	\$2,472.00	\$379.57	\$1,138.71	\$294.44	\$883.32
20	GDOT- 163F	CONSTRUCT, MAINTAIN, AND REMOVE SILT FENCE/COMPOST FILTER SOCK	LIN. FT.	700	\$25.00	\$17,500.00	\$17.37	\$12,159.00	\$4.50	\$3,150.00
21	GDOT- 163G	CONSTRUCT, MAINTAIN, AND REMOVE TEMPORARY SEDIMENT TRAP	EACH	2	\$12,900.00	\$25,800.00	\$882.87	\$1,765.74	\$294.44	\$588.88
22	GDOT- 163I	CONSTRUCT, MAINTAIN, AND REMOVE EROSION CONTROL BLANKET/MATTING	SQ. YD.	600	\$2.75	\$1,650.00	\$2.64	\$1,584.00	\$1.40	\$840.00
23	GDOT- 167A	WATER QUALITY MONITORING AND SAMPLING	EACH	6	\$592.00	\$3,552.00	\$294.29	\$1,765.74	\$309.31	\$1,855.86
24	GDOT- 167B	WATER QUALITY INSPECTIONS	MONTH	2	\$8,390.00	\$16,780.00	\$1,177.17	\$2,354.34	\$618.62	\$1,237.24
25	GDOT- 171A	INSTALL AND MAINTAIN TEMPORARY SILT FENCE, TYPE C	LIN. FT.	500	\$13.75	\$6,875.00	\$3.67	\$1,835.00	\$5.12	\$2,560.00

#### ADDITIVE BID #2: RWY 16 RSA & SOUTH POND

## ITB No. 22-101517 Runway 16-34 Rehab RSA Improvements at the PDK Airport

					E.R. SNELL CO	NTRACTOR, INC.		WS CONTRACTING, O., INC.	ASTRA GROUP, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
26	GDOT- 603A	STONE DUMPED RIP RAP, TYPE 3, 18" DEPTH	SQ. YD.	500	\$78.50	\$39,250.00	\$81.50	\$40,750.00	\$80.70	\$40,350.00
27	T-901-1	PERMANENT SEEDING	ACRE	10	\$3,720.00	\$37,200.00	\$3,570.53	\$35,705.30	\$1,474.32	\$14,743.20
28	T-901-2	TEMPORARY SEEDING AND MULCHING	ACRE	10	\$2,280.00	\$22,800.00	\$2,187.35	\$21,873.50	\$4,311.48	\$43,114.80
29	T-905-1	TOPSOIL (FURNISHED FROM OFF SITE)	CU. YD.	1,500	\$49.50	\$74,250.00	\$71.74	\$107,610.00	\$47.33	\$70,995.00
30	T-908-1	MULCHING	SQ. YD.	5,000	\$0.15	\$750.00	\$0.14	\$700.00	\$0.20	\$1,000.00
	TOTAL RWY 16 RSA & SOUTH POND:			\$1,438,242.00		\$1,564,184.67		\$1,260,000.00		
Note to Bidde	ote to Bidder:									

EM NO. SP					E.R. SNELL CONTRACTOR, INC.			WS CONTRACTING, D., INC.	ASTRA GROUP, INC.	
	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1 C		CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1			\$22,202.42	\$22,202.42	\$43,000.00	\$43,000.00
2 C	C-105-1	MOBILIZATION	L. SUM	1			\$32,562.57	\$32,562.57	\$19,500.00	\$19,500.00
3 P		ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE	SQ. YD.	100			\$55.75	\$5,575.00	\$18.80	\$1,880.00
4 P	P-101-2	REMOVE EXISTING PCC PAVEMENT, 6-10" DEPTH NOMINAL, INCLUDING BASE	SQ. YD.	450		3 <u>BID</u>	\$105.85	\$47,632.50	\$50.50	\$22,725.00
5 P		CRUSHED AGGREGATE BASE COURSE	CU. YD.	90	~	5×	\$493.16	\$44,384.40	\$73.38	\$6,604.20
6 P		PORTLAND CEMENT CONCRETE (10 INCH)	SQ. YD.	550	Ź		\$336.20	\$184,910.00	\$179.97	\$98,983.50
7 GD(	DOT- 163A	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT/CONCRETE WASHOUT	EACH	1			\$11,988.89	\$11,988.89	\$2,307.30	\$2,307.30
TOTAL ARFF STATION			ATION:	\$0.00		\$349,255.78		\$195,000.00		

## **ADDITIVE BID #3: ARFF STATION**

NO.ITEM DESCRIPTION0-1CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)5-1MOBILIZATION5-1MOBILIZATION1-1ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE1-4MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL TIES1-6REMOVE EXISTING DRAINAGE STRUCTURE1-8JOINT AND CRACK REPAIR, 1/8" TO 1/2" WIDTH1-9JOINT AND CRACK REPAIR, 1/2" TO	UNIT L. SUM L. SUM SQ. YD. SQ. YD. EACH LIN. FT.	UNIT NO. 1 1 50 8,200 1	UNIT PRICE \$86,400.00 \$74,100.00 \$152.00 \$7.25 \$2,540.00	TOTAL PRICE           \$86,400.00           \$74,100.00           \$7,600.00           \$59,450.00	UNIT PRICE \$66,039.51 \$75,104.99 \$105.62 \$10.96	<b>TOTAL PRICE</b> \$66,039.51 \$75,104.99 \$5,281.00 \$89,872.00	UNIT PRICE \$267,000.00 \$99,000.00 \$18.83	<b>TOTAL PRICE</b> \$267,000.00 \$99,000.00 \$941.50
<ul> <li>PROGRAM (CQCP)</li> <li>PROGRAM (CQCP)</li> <li>MOBILIZATION</li> <li>ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE</li> <li>MILL BITUMINOUS PAVEMENT,</li> <li>VARIABLE DEPTH, INCLUDING MILL TIES</li> <li>REMOVE EXISTING DRAINAGE STRUCTURE</li> <li>JOINT AND CRACK REPAIR, 1/8" TO 1/2" WIDTH</li> <li>JOINT AND CRACK REPAIR, 1/2" TO</li> </ul>	L. SUM SQ. YD. SQ. YD. EACH	8,200 1	\$74,100.00 \$152.00 \$7.25	\$74,100.00 \$7,600.00	\$75,104.99 \$105.62	\$75,104.99 \$5,281.00	\$99,000.00 \$18.83	\$99,000.00 \$941.50
1-1       ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE         1-1       MILL BITUMINOUS PAVEMENT, VARIABLE DEPTH, INCLUDING MILL TIES         1-6       REMOVE EXISTING DRAINAGE STRUCTURE         1-8       JOINT AND CRACK REPAIR, 1/8" TO 1/2" WIDTH         1-0       JOINT AND CRACK REPAIR, 1/2" TO	SQ. YD. SQ. YD. EACH	8,200 1	\$152.00 \$7.25	\$7,600.00	\$105.62	\$5,281.00	\$18.83	\$941.50
<ul> <li>INCLUDING BASE</li> <li>MILL BITUMINOUS PAVEMENT,</li> <li>VARIABLE DEPTH, INCLUDING MILL TIES</li> <li>REMOVE EXISTING DRAINAGE STRUCTURE</li> <li>JOINT AND CRACK REPAIR, 1/8" TO 1/2" WIDTH</li> <li>JOINT AND CRACK REPAIR, 1/2" TO</li> </ul>	SQ. YD. EACH	8,200 1	\$7.25					
<ul> <li>1-4 VARIABLE DEPTH, INCLUDING MILL TIES</li> <li>1-6 REMOVE EXISTING DRAINAGE STRUCTURE</li> <li>1-8 JOINT AND CRACK REPAIR, 1/8" TO 1/2" WIDTH</li> <li>1 JOINT AND CRACK REPAIR, 1/2" TO</li> </ul>	EACH	1		\$59,450.00	\$10.96	\$89 872 00	<b>•</b> <i>--</i>	
1-6       STRUCTURE         1-8       JOINT AND CRACK REPAIR, 1/8" TO         1/2" WIDTH       JOINT AND CRACK REPAIR, 1/2" TO		1	\$2,540.00			φ0 <b>9</b> ,07 <b>2</b> .00	\$5.55	\$45,510.00
<sup>1-8</sup> 1/2" WIDTH JOINT AND CRACK REPAIR, 1/2" TO	LIN. FT.		. ,	\$2,540.00	\$1,886.64	\$1,886.64	\$2,062.76	\$2,062.76
		20,000	\$2.00	\$40,000.00	\$1.99	\$39,800.00	\$1.18	\$23,600.00
1-9 1" WIDTH	LIN. FT.	20,000	\$2.40	\$48,000.00	\$2.40	\$48,000.00	\$1.54	\$30,800.00
2-4 SHOULDER GRADING	SQ. YD.	275	\$36.75	\$10,106.25	\$39.34	\$10,818.50	\$17.72	\$4,873.00
ASPHALTIC CONCRETE, 12.5MM SUPERPAVE, INCLUDING BITUMINOUS MATERIALS AND HYDRATED LIME	TON	1,905	\$190.00	\$361,950.00	\$222.03	\$422,967.15	\$236.31	\$450,170.55
3-1 EMULSIFIED ASPHALT TACK COAT	GAL.	1,640	\$4.90	\$8,036.00	\$5.52	\$9,052.80	\$9.22	\$15,120.80
<sup>J-2</sup> REFLECTIVE	SQ. FT.	2,700	\$2.40	\$6,480.00	\$2.35	\$6,345.00	\$1.80	\$4,860.00
0-4 PAVEMENT MARKING, BLACK, NON-REFLECTIVE	SQ. FT.	5,645	\$2.40	\$13,548.00	\$2.35	\$13,265.75	\$1.80	\$10,161.00
1-1 AIRFIELD INLET WITH IN- PAVEMENT GRATE	EACH	1	\$43,000.00	\$43,000.00	\$39,762.97	\$39,762.97	\$32,142.39	\$32,142.39
4-2 CONCRETE UTILITY TRENCH CAP, 6" THICK	SQ. YD.	50	\$161.00	\$8,050.00	\$123.44	\$6,172.00	\$75.16	\$3,758.00
TOTAL	TAXIWAY	BRAVO:	\$769,	260.25	\$834,368.31		\$990,000.00	
)- )- 1·	IEMULSIFIED ASPHALT TACK COAT2PAVEMENT MARKING, YELLOW, REFLECTIVE4PAVEMENT MARKING, BLACK, NON-REFLECTIVE-1AIRFIELD INLET WITH IN- PAVEMENT GRATE-2CONCRETE UTILITY TRENCH CAP, 6" THICK	IEMULSIFIED ASPHALT TACK COATGAL.2PAVEMENT MARKING, YELLOW, REFLECTIVESQ. FT.4PAVEMENT MARKING, BLACK, NON-REFLECTIVESQ. FT1AIRFIELD INLET WITH IN- PAVEMENT GRATEEACH-2CONCRETE UTILITY TRENCH CAP, 6" THICKSQ. YD.	IEMULSIFIED ASPHALT TACK COATGAL.1,6402PAVEMENT MARKING, YELLOW, REFLECTIVESQ. FT.2,7004PAVEMENT MARKING, BLACK, NON-REFLECTIVESQ. FT.5,645-1AIRFIELD INLET WITH IN- PAVEMENT GRATEEACH12CONCRETE UTILITY TRENCH CAP, SQ. FD.SQ. VD.50	-1EMULSIFIED ASPHALT TACK COATGAL.1,640\$4.90-2PAVEMENT MARKING, YELLOW, REFLECTIVESQ. FT.2,700\$2.404PAVEMENT MARKING, BLACK, NON-REFLECTIVESQ. FT.5,645\$2.40-1AIRFIELD INLET WITH IN- PAVEMENT GRATEEACH1\$43,000.00-2CONCRETE UTILITY TRENCH CAP, 6" THICKSQ. YD.50\$161.00	-1       EMULSIFIED ASPHALT TACK COAT       GAL.       1,640       \$4.90       \$8,036.00         -2       PAVEMENT MARKING, YELLOW, REFLECTIVE       SQ. FT.       2,700       \$2.40       \$6,480.00         -4       PAVEMENT MARKING, BLACK, NON-REFLECTIVE       SQ. FT.       5,645       \$2.40       \$13,548.00         -1       AIRFIELD INLET WITH IN- PAVEMENT GRATE       EACH       1       \$43,000.00       \$43,000.00         -2       CONCRETE UTILITY TRENCH CAP, 6" THICK       SQ. YD.       50       \$161.00       \$8,050.00	-1       EMULSIFIED ASPHALT TACK COAT       GAL.       1,640       \$4.90       \$8,036.00       \$5.52         -2       PAVEMENT MARKING, YELLOW, REFLECTIVE       SQ. FT.       2,700       \$2.40       \$6,480.00       \$2.35         -4       PAVEMENT MARKING, BLACK, NON-REFLECTIVE       SQ. FT.       5,645       \$2.40       \$13,548.00       \$2.35         -1       AIRFIELD INLET WITH IN- PAVEMENT GRATE       EACH       1       \$43,000.00       \$43,000.00       \$39,762.97         -2       CONCRETE UTILITY TRENCH CAP, 6" THICK       SQ. YD.       50       \$161.00       \$8,050.00       \$123.44	11       EMULSIFIED ASPHALT TACK COAT       GAL.       1,640       \$4.90       \$8,036.00       \$5.52       \$9,052.80         2       PAVEMENT MARKING, YELLOW, REFLECTIVE       SQ. FT.       2,700       \$2.40       \$6,480.00       \$2.35       \$6,345.00         4       PAVEMENT MARKING, BLACK, NON-REFLECTIVE       SQ. FT.       5,645       \$2.40       \$13,548.00       \$2.35       \$13,265.75         -1       AIRFIELD INLET WITH IN- PAVEMENT GRATE       EACH       1       \$43,000.00       \$43,000.00       \$39,762.97       \$39,762.97         -2       CONCRETE UTILITY TRENCH CAP, 6" THICK       SQ. YD.       50       \$161.00       \$8,050.00       \$123.44       \$6,172.00	11       EMULSIFIED ASPHALT TACK COAT       GAL.       1,640       \$4.90       \$8,036.00       \$5.52       \$9,052.80       \$9.22         2       PAVEMENT MARKING, YELLOW, REFLECTIVE       SQ. FT.       2,700       \$2.40       \$6,480.00       \$2.35       \$6,345.00       \$1.80         4       PAVEMENT MARKING, BLACK, NON-REFLECTIVE       SQ. FT.       5,645       \$2.40       \$13,548.00       \$2.35       \$13,265.75       \$1.80         -1       AIRFIELD INLET WITH IN- PAVEMENT GRATE       EACH       1       \$43,000.00       \$43,000.00       \$39,762.97       \$39,762.97       \$32,142.39         -2       CONCRETE UTILITY TRENCH CAP, 6" THICK       SQ. YD.       50       \$161.00       \$8,050.00       \$123.44       \$6,172.00       \$75.16

## ADDITIVE BID #4: TAXIWAY BRAVO

## ADDITIVE BID #5: HANGAR APRON & T-HANGAR DRAINAGE

					E.R. SNELL CONTRACTOR, INC.		C.W. MATTHEWS CONTRACTING, CO., INC.		ASTRA GROUP, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	C-100-1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1			\$40,971.89	\$40,971.89	\$76,000.00	\$76,000.00
2	C-105-1	MOBILIZATION	L. SUM	1			\$62,728.77	\$62,728.77	\$40,000.00	\$40,000.00
3	P-101-1	ASPHALTIC PAVEMENT REMOVAL, INCLUDING BASE	SQ. YD.	260			\$61.23	\$15,919.80	\$18.85	\$4,901.00
4	P-101-2	REMOVE EXISTING PCC PAVEMENT, 6- 10" DEPTH NOMINAL, INCLUDING BASE	SQ. YD.	950			\$95.48	\$90,706.00	\$50.62	\$48,089.00
5	P-209-1	CRUSHED AGGREGATE BASE COURSE	CU. YD.	185			\$264.96	\$49,017.60	\$73.55	\$13,606.75
6	P-405-1	ASPHALTIC CONCRETE, 12.5MM SUPERPAVE, INCLUDING BITUMINOUS MATERIALS AND HYDRATED LIME	TON	70	÷9	812	\$270.72	\$18,950.40	\$309.29	\$21,650.30
7	P-501-1	PORTLAND CEMENT CONCRETE (6 INCH)	SQ. YD.	950	÷		\$237.03	\$225,178.50	\$92.78	\$88,141.00
8	D-701-2	STORM SEWER, CLASS III RCP, 18" DIAMETER	LIN. FT.	410			\$170.25	\$69,802.50	\$80.36	\$32,947.60
9	D-751-4	DOGHOUSE MANHOLE	EACH	1			\$22,194.33	\$22,194.33	\$53,170.04	\$53,170.04
10	D-754-2	CONCRETE UTILITY TRENCH CAP, 6" THICK	SQ. YD.	255			\$117.76	\$30,028.80	\$75.21	\$19,178.55
11	GDOT- 163A	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT/CONCRETE WASHOUT	EACH	1			\$11,988.89	\$11,988.89	\$2,315.76	\$2,315.76
		TOTAL HANGAR APRON & T-	-HANGAR	DRAINAGE:	\$0	).00	\$637,4	87.48	\$40	0,000.00

					E.R. SNELL COM	NTRACTOR, INC.	-	ATTHEWS NG, CO., INC.	ASTRA G	ROUP, INC.
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
1	C-100-1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1	\$84,200.00	\$84,200.00	\$32,641.75	\$32,641.75	\$133,000.00	\$133,000.00
2	C-105-1	MOBILIZATION	L. SUM	1	\$35,000.00	\$35,000.00	\$40,106.20	\$40,106.20	\$39,500.00	\$39,500.00
3	P-152-1	EMBANKMENT IN PLACE	CU. YD.	440	\$49.75	\$21,890.00	\$95.33	\$41,945.20	\$35.63	\$15,677.20
4	P-152-3	SCARIFIED SUBGRADE PREPARATION (12 INCH)	SQ. YD.	1,240	\$1.75	\$2,170.00	\$20.72	\$25,692.80	\$6.30	\$7,812.00
5	P-209-1	CRUSHED AGGREGATE BASE COURSE	CU. YD.	275	\$130.00	\$35,750.00	\$194.19	\$53,402.25	\$76.44	\$21,021.00
6	P-405-1	ASPHALTIC CONCRETE, 12.5MM SUPERPAVE, INCLUDING BITUMINOUS MATERIALS AND HYDRATED LIME	TON	300	\$282.00	\$84,600.00	\$299.59	\$89,877.00	\$334.63	\$100,389.00
7	P-602-1	EMULSIFIED ASPHALT PRIME COAT	GAL.	370	\$13.75	\$5,087.50	\$21.68	\$8,021.60	\$5.58	\$2,064.60
8	P-603-1	EMULSIFIED ASPHALT TACK COAT	GAL.	370	\$4.90	\$1,813.00	\$5.52	\$2,042.40	\$5.58	\$2,064.60
9	GDOT- 163A	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT/CONCRETE WASHOUT	EACH	1	\$6,300.00	\$6,300.00	\$11,988.89	\$11,988.89	\$2,333.54	\$2,333.54
10	GDOT- 163B	CONSTRUCT, MAINTAIN, AND REMOVE STONE RIP RAP CHECK DAM	EACH	2	\$969.00	\$1,938.00	\$1,438.45	\$2,876.90	\$312.49	\$624.98
11	GDOT- 163C	CONSTRUCT, MAINTAIN, AND REMOVE INLET SEDIMENT TRAP	EACH	2	\$824.00	\$1,648.00	\$379.57	\$759.14	\$312.32	\$624.64
12	GDOT- 163G	CONSTRUCT, MAINTAIN, AND REMOVE TEMPORARY SEDIMENT TRAP	EACH	1	\$12,900.00	\$12,900.00	\$882.87	\$882.87	\$312.32	\$312.32
13	GDOT- 163I	CONSTRUCT, MAINTAIN, AND REMOVE EROSION CONTROL BLANKET/MATTING	SQ. YD.	300	\$3.00	\$900.00	\$2.90	\$870.00	\$1.49	\$447.00
14	GDOT- 171A	INSTALL AND MAINTAIN TEMPORARY SILT FENCE, TYPE C	LIN. FT.	500	\$13.75	\$6,875.00	\$3.67	\$1,835.00	\$5.43	\$2,715.00
15	T-901-1	PERMANENT SEEDING	ACRE	2	\$3,720.00	\$7,440.00	\$3,570.53	\$7,141.06	\$4,573.24	\$9,146.48
16	T-901-2	TEMPORARY SEEDING AND MULCHING	ACRE	2	\$2,280.00	\$4,560.00	\$2,187.35	\$4,374.70	\$1,563.82	\$3,127.64
17	T-904-1	SODDING	SQ. YD.	500	\$13.00	\$6,500.00	\$9.97	\$4,985.00	\$15.78	\$7,890.00
18	T-905-1	TOPSOIL (FURNISHED FROM OFF SITE)	CU. YD.	1,000	\$49.50	\$49,500.00	\$71.79	\$71,790.00	\$45.20	\$45,200.00
19	T-908-1	MULCHING	SQ. YD.	5,000	\$0.15	\$750.00	\$0.14	\$700.00	\$0.21	\$1,050.00
Note to Bid	TOTAL TWY NOVEMBER HOLDING APRON:					821.50	\$401,	932.76	\$395	,000.00

## ADDITIVE BID #6: TWY NOVEMBER HOLDING APRON

Note to Bidder:

\*Include estimated quantities and totals where applicable

# **GRAND TOTALS**

	E.R. SNELL CONTRACTOR, INC.	C.W. MATTHEWS CONTRACTING, CO., INC.	ASTRA GROUP, INC.
Base Bid Schedule A – TOTAL	\$4,627,955.00	\$3,793,869.34	\$3,760,000.00
Base Bid Schedule B – TOTAL	\$7,425,581.75	\$7,647,237.54	\$8,430,000.00
Additive Bid No. 1 – TOTAL	\$242,685.00	\$307,977.61	\$320,000.00
Additive Bid No. 2 – TOTAL	\$1,438,242.00	\$1,564,184.67	\$1,260,000.00
Additive Bid No. 3 – TOTAL	\$0.00	* \$349,255.78	\$195,000.00
Additive Bid No. 4 – TOTAL	\$769,260.25	\$834,368.31	\$990,000.00
Additive Bid No. 5 – TOTAL	\$0.00	\$637,487.48	\$400,000.00
Additive Bid No. 6 – TOTAL	\$369,821.50	\$401,932.76	\$395,000.00
<b>GRAND TOTAL</b>	\$14,873,545.50	\$15,536,313.49	\$15,750,000.00

# Number of Bids Received: 3

LSBE Participation Benchmark/GFE	N/A - LSBE Waived by Committee	N/A - LSBE Waived by Committee	N/A - LSBE Waived by Committee
Vendor submitted in cost in separate sealed envelope?	VHN	YES	YES
Vendor included cost in other areas outside of separate sealed envelope?	N()	NO	NO
Vendor included all required documents in bid submittal?	YES	YES	YES
Federal Debarment	NO	NO	NO

Witness Signature:	Tynia Inu Umoru	Digitally signed by Tynia Inu Umoru Date: 2022.07.01 12:01:19 -04'00'
		Digitally signed by Jovan Hooper

Agent Signature: Jovan Hooper Date: 2022.07.01 13:40:40